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CIRCLES

1. The point diametrically opposite to the

point (-3, -4) on the circle


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MlRGrgNRudNv

22+ 2+ 22 +4y—3=0is (i) (3, - 4) (ii) (-
3, 4) (iii) (1, 0) (iv) (3, 4)
A. (3,-4)
B.(-3,4)
C.(1,0)

D.(3,4)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MlRGrgNRudNv

2.1f the lines 2x + 3y + 1=0 and 3x - y-4 = 0 lie
along two diameters of a circle of
circumference 10w, then the equation of circle
is () x2*+y*+2+2y+23=0 (i)
2?2 +y? — 22 — 2y —23 =0 (iii)
z? +y? — 2 42y — 23 =0 (iv)

2?2 +y? + 22 — 2y + 23 =0

Az 4y +22+2y+23=0
B.z’ + 9y — 2z — 2y — 23 =0

Cel+y?—2c+2y—23=0


https://dl.doubtnut.com/l/_da09rAayWqdW

D.z2 +vy> 4+ 2z —2y+23=0

Answer: C

° Watch Video Solution

3. The equation of the circle which, passes
through the point ( — 2, — 3) and has its
centre on the negative direction of x-axis and

is of radius 5 units is

Azl +y’+122 +11 =0


https://dl.doubtnut.com/l/_da09rAayWqdW
https://dl.doubtnut.com/l/_6Wmtyx72qgqE

B.z? +y®> — 122 + 11 = 0
Cael+y?—122—-11=0

D.z’ +y*+ 122 — 11 =0

Answer: A

o Watch Video Solution

4. The equation of a circle which touches the y-

axis at origin and whose radius is 3 units is

Azl+y*+6y=0


https://dl.doubtnut.com/l/_6Wmtyx72qgqE
https://dl.doubtnut.com/l/_TWviZDg0Qtq7

B.z? + y> + 6z = 0
Czl+y*+3z=0

D.z? +y*+3y=0

Answer: B

o Watch Video Solution

5. The shortest distance of the point (8,1) from

the circle (z + 2)° + (y — 1)* =25 is

A. 15


https://dl.doubtnut.com/l/_TWviZDg0Qtq7
https://dl.doubtnut.com/l/_93q5nkUQYIq0

B.10

C.5

D.6

Answer: C

o Watch Video Solution

6. The smallest circle with centre on y-axis and

passing through the point (7,3) has radius

A. /58


https://dl.doubtnut.com/l/_93q5nkUQYIq0
https://dl.doubtnut.com/l/_Cq7ZS5KyMIcF

B.7

C.3

D.4

Answer: B

o Watch Video Solution

7. If the equation
(4X — 3)z® + Ay® + 62 — 2y +2 =0

represents a circle, then its centre is


https://dl.doubtnut.com/l/_Cq7ZS5KyMIcF
https://dl.doubtnut.com/l/_aik5Db4QYC67

A. (a) (3,1)

B. (b) (3,1)

C. (o) (-3,1)

D. (d) (-3,-1)

Answer: C

° Watch Video Solution

Multiple Choice Questions


https://dl.doubtnut.com/l/_aik5Db4QYC67

1. The equation of the circle which touches x-
axis and whose centre is (1,2) is
A. (a) z* —|—y2 —2x —4y+4=0
B.(b)z? +y? — 2z —4y+1=0
ClOz*+y’+2r+4y—1=0

D.(d)z° +vy* + 2z —4y+1=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_j4FD9cVG76kt
https://dl.doubtnut.com/l/_QRBfldzi2kd3

2. The equation of a circle which touches both
the coordinate axes and the linex=3is

Adx? +4y* — 120+ 12y +9 =0

B.dx? + 4y’ + 122 + 12y +9 =0

Cde’ +4y* + 122 — 12y +9=0

D.4z> + 4y £ 122 + 12y + 9 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QRBfldzi2kd3

3. If a circle passes through the point (0,0),
(a,0) and (0O,b), then the coordinates of its

centre are

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_escYFHAc2oKp

4. The farthest distance of the point (1,5) from
the circle (z — 1)* + (y + 1)° = 161is

A.4

B.5

C.6

D.10

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AfYL8weQ48yz
https://dl.doubtnut.com/l/_AcV7jYJRiGxQ

5.1f thelines3x-4y+4=0and 6x-8y-7=0
are tangents to a circle , then the radius of the

circle is

A3 it
.4un|s

33 it
. 5 units

C. 3 units

3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_AcV7jYJRiGxQ
https://dl.doubtnut.com/l/_vqwRFTmWnDvw

6. If one end of a diameter of the circle
z? + y* —dx — 6y + 11 = O'is (3, 4), then the
coordinates of the other end of the diameter
are

A.(a) (2,)

B. (b) (-2,1)

C.(c) (1,2)

D. (d) (-1,-2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vqwRFTmWnDvw

7. The equation of a circle concentric with the
circe z*+y*—6z+12y+15=0 and
double its area is
AAz?+y°—6z+12y+30=0
B.B.z° +y*> — 6z + 12y +45=0
C.Cxl+y*—6cx+12y—30=0

D.D.z° + y* — 6z + 12y — 15 = 0

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_vqwRFTmWnDvw
https://dl.doubtnut.com/l/_CJqsCqJ4isF1

8. The eqaution of the circle concentric with
2’ +y* -3z +4y+c=0 and passing
through the point (-1,-2) is

AAz +y* —3c+4y+2=0

B.B.z’ +4y* — 3z +4y—1=0

CCzxl+y*—3c+4y—5=0

D.D.22 +9*> — 3z + 4y = 0

Answer: D



https://dl.doubtnut.com/l/_CJqsCqJ4isF1
https://dl.doubtnut.com/l/_uBcRfFUPpM5l

| & Watch Video Solution

9. If the point (2,3) lies on the circle
2 +y? +29x +2fy+c=0  which is
concentric with the circle
z? + y* + 6z + 8y — 25 = 0, then the value

of cis

A (a) 1
B.(b) —1

C.(c) 49


https://dl.doubtnut.com/l/_uBcRfFUPpM5l
https://dl.doubtnut.com/l/_SXydKLQChMdp

Answer: B

o Watch Video Solution

10. Find the equation of the circle which
passes through the origin and cuts off
intercepts -2 and 3 from the coordinate axes .
A x™(2) +y™(2) +2x+3y=0
2 2 _
Bz +y " +2xr —3y=20
2 2 _
Cz+y " —2x+3y=0

D.z? +y> -2z —3y=0


https://dl.doubtnut.com/l/_SXydKLQChMdp
https://dl.doubtnut.com/l/_PpkaUE6UkGBx

Answer: B

o Watch Video Solution

11. The equation of the smallest circle passing
through the point (1,0) and (0,1) is

AAZ+y +x+y=0

BBz +y —2z—y=0

CCzl+y —z—y+2=0

D.D.z° +y° -z —y—1=0


https://dl.doubtnut.com/l/_PpkaUE6UkGBx
https://dl.doubtnut.com/l/_jzfUk41XgiCp

Answer: B

o Watch Video Solution

12. If the equation
kx? + (2k—3)y  — 6z +4y+3=0

represents a circle, then its centre is


https://dl.doubtnut.com/l/_jzfUk41XgiCp
https://dl.doubtnut.com/l/_vgGIFXFQqW0c

Answer: C

o Watch Video Solution

13. The equation of two diameters of a cirlce
arex —y = 5 and 2z + y = 4 and the radius
of the circle is 5 units, then the equation of
the circle is

Az +y’—6x+4y—12=0

B.z? +y> + 62 —4y—12=0

Cel+y’+6zx+4y+12=0


https://dl.doubtnut.com/l/_vgGIFXFQqW0c
https://dl.doubtnut.com/l/_WKqBQlSurZ6Q

D.z’+ 4y’ —6x +4y+12=0

Answer: A

° Watch Video Solution

14. The equation of the circle whose center is
(3-2) and which touches the line
3r —4y+ 13 =20is

AAz>+y* + 6z —4y—23=0

B.Bax?+y?—6z —4y—23=0


https://dl.doubtnut.com/l/_WKqBQlSurZ6Q
https://dl.doubtnut.com/l/_tUugmYqQXTrq

CCz?+y?—6z+4y—23=0

D.D.z2 +y?> + 6z +4y+23=0

Answer: C

o Watch Video Solution

15. The equation of the incircle of the triangle
formed by the coordinate axes and the line 4x

+3y-6=0is

A2 +1y P —6z—6y—9=0


https://dl.doubtnut.com/l/_tUugmYqQXTrq
https://dl.doubtnut.com/l/_geAunS89AHdo

B)4(z* +y* —z—y) +1=0

Q4(z®+y*+z+y) +1=0

D)4(z* +y* —z—y) —1=0
Az?+yP—6z—6y—9=0
B.4(z> +y* —z—y) +1=0
Ca(z>+y*+a+y) +1=0

D.4(az2—|—y2—az—y)—1:O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_geAunS89AHdo
https://dl.doubtnut.com/l/_oifU4uup1dir

16. Equation of a circle which passes through
(3,6) and touches the axes is
Az’ +y’+6z+6y+3=0
Bl +y?—6z—6y—9=0
Czl4+y>—6z—6y+9=0

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oifU4uup1dir

17. If the circle 22 + y? + 29z + 8y + 16 = 0
touches the x axis, then the values of g are

A A £+16

B.B. £8

C.C.+4

D.D. 42

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3J42tHUXi7Pm
https://dl.doubtnut.com/l/_h7dty1Lrbtlp

18. If the circle 222 + 2y* = 5z touches the

line 3z + 4y = k ,then the values of k are

Al()5
: ) 5

B. 10 >
. , 2
C105
10, 5

D55
-5 7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_h7dty1Lrbtlp

19. Equation of the circle with centre lies on y-
axis and passing through the origin and the
point (2,3) is

Az’ 4y +13y =0

B.3z% + 3y — 13y =0

C.6z° 4+ 6y° — 13z = 0

D.z? + ¢y + 13z +3 =10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3HczhQPvosGA

20. If the centroid of an equilateral triangle is
(1,1) and its one vertex is (2,-1) , then equation
of the circumcircle of the triangle is

Az(2) +y* -2z —2y—3=0

B.z’ +y®> —4x +2y=0

Cal+y’+2x+2y—3=0

D.z’+ ¢y -2z +2y+3=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kggGsy9fGCnZ

21. The equation of a circle with origin as
centre and passing through the vertices of an
equilateral triangle whose median is of length
3ais

A A z° + y* = 4a®

B.B.z? + y* = 9a’

C.C.z2 + y2 = 16a*

D.D.:z:z—l—y2 = a’

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_bq2e5C4XJIjf

22. The circle z? +y? + 29z +2fy +c =0
does not intersect the y-axis if
A.A. g°
A gt <ec
B.B. f2 < ¢
C.C.4f* < ¢

D.D. f? < 4c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bq2e5C4XJIjf
https://dl.doubtnut.com/l/_xJKtdCgwxP1W

23. If the circles 2’+y?=k and
z? +y* + 8z — 6y + 9 = 0 touch externally,

then the value of k is

Al

C.9

D. 81

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xJKtdCgwxP1W
https://dl.doubtnut.com/l/_qCxuchPRbZKa

24. The equation of the diameter of the circle

z? + y® — 6z + 2y = 0 which passes through

origin is
Ay+3z =0
B.x-3y=0
C.x+3y=0
D.y-3x=0

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_qCxuchPRbZKa
https://dl.doubtnut.com/l/_MsaVM1kWBqjH



https://dl.doubtnut.com/l/_MsaVM1kWBqjH

